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Grade 4 Science Inspire Exam- First Term 2021- 2022 1Jill daglall a glall ¢jlatial -l ) Ciuall

1-When a volcano erupts, what will the liquid turn into after it cools down?
20 of an Jilad) 4l Jsaias 3 L (IS ) ) 6y Ladie

A-Rocks Lsia B-Water sk C-Fire _u D- None of the above. S3Les &Y
2-Which of the following is the tallest landform? =i J<& Jshi s b e (g
A-The Mountain J= B- The canyon ¢34

C-The plain Jgd) D- the beach bl
3-Which of the following letters represents the dune feature

in the map bellow? ¢l sy A0 e dla ) GLESH Jia 406 Cajal) (e
A B c D |
4-Which of the following information would be revealed to ~ SLe S = o

the scientist through studying fossil evidence? & sia¥) A il ;3 A e slalall e o) (Raall G e slaal) 3 sl
A-Rocks and minerals. () g ) siuall B-Where earthquake occur. JJ¥Jl &uas gyl
C-How an environment has change over time. ¢3! Jga 4l i (i
D-None of above. Sileas i

5-Scienctists can tell which fossils are the oldest by looking at the bedrock.

Which of the following layers contains the youngest fossils? é »s slalall (Sa

Bl duaal e g ogins Akl 4 e el jaa ) k) OYA (e a8Y) ydlaY)

A-Layer A 4akll  B-Layer B 4kl C-Layer C 4daukll D-Layer D 4&kl [

6-Which of the following happens during the physical weathering? 4.l 5l 43 saill £l Gaany b Lea g

A-The size and the shape of rock are change. ,siall Jsdy aaa il ol
B-Rust is created from the combination of water and air. s)sglls slall (e e (1 faall o8 o4
C-It snows Ll kélus, D-Rust is created from the air. 5 (s laall 08 ALy

7- Which of the following best explains how the canyon may have formed?
A-a volcano eruption formed the canyon. 2l clSé 43S 5 5 ) ¢
B-Erosion from flowing water formed the canyon.. s sl clsd d88aial) slual) cua 4y 235 JSG
C- The canyon was formed by animals. Ul gall Jad; g2 gl Jeda
D-The canyon was formed by plants <l Jad; g3 gl Jds
8-Which natural hazard might cause a landslide when the ground shakes?
oY) yigh Ledie L i | )lgd) g 28 3 apal) jladll 4 L
A-Pollution &3til1  B-Forest fire <biad) &l a C-Earthquake J3¥3Y D-Flooding «lilaé
9-Which of the following is the term that describe beaks or cracks in the rock that make up
Earth’s crust? Su= ¥l s 88 g ) aaall b cleaadl o Jual il e 3lad (53) mllaiadll Jiay b Les gl
A-Landforms oY) Jial B-Boundaries sl C-Faults gs2all D-Holes_ il
10-Which force will stop a moving truck? <l aie jUa8 Cad g3 Cagun Al 3 68l 8 L
a-Friction dsia)  b-inertia 13 s c-newtons (s d-balanced forces 4} 3 6




11-Which part of the diagram below show the c}\ aj ,
wavelength? Scasall Jshal) Gow av N e e 3a sl [ .. "
gine % o m e | =l Mg
A B C D
12- How can you determine the amplitude of the wave pattern shown below?
a) Measure the length of each peak.i< JS Jsh Lid sl g gl A gall Jani Aas apant liay (oS
b) Count the number of peaks. il slac| 22
c) Measure the length of the entire wave. ikis is sl Jsh (uld @/\/\/\/\/\/\
o @ & o

d)Measure the height of the wave. s 5l gl ) Luld o & o

E==:==m

13-Hend is designing a solution to a problem. What is the first step pf the design process that
Hend should use? $xa Leeadind o)) oy ) asaaill Blae (e (A1 3 ghadll o4 Lo 210D Sa poa 2

a- Ask 4Ly B-Plan 4kl C-Result 4 D- Create L)
14-A group of students are designing a model house that is safe in strong winds .Which house
would be the safest: Lial ) sS4l 3lail) (gl A 58l )l da il (gl (a3 s J jie s e sana panaay

a-a house built out of toothpicks. ¢! sl sei e s J 3t

b-a house built out of papers.:_ sl i« Fw J i

c-a house built out of linking cubes. wlasall L) (10 A J e
D- a house built out of craft sticks. i all oasll e s J i
15-Team A and team B playing tug-of-war. Which of the following would most likely happen if
team A win? Lusa (58 bilee 6 T (8l S8 Jla 8 Jaall 08 Lad o 3 dll 5 ) Gl

a- team B used more force i3 Jb o @b b-Team A used more force.s 5 Ju i &

c-Team A used less force.J&i 58 Ju i @b d-both teams used same amount of force.

16- A boy pushes on a box and_moves it in room. This is an example of....

ke Jie 13 (i al) B 4S a3 sainall aby A40-15 a—
a- Balanced forces 4ijie s b- Unbalanced forces jis & .

c-Physical reaction b Jelis d-Chemical reaction - tes Jolis
17- Which of the following would increase Stretch a coil or spring. &l a8 sie 33w M (4 (g
a-Potential energyaijial 4l b-Kinetic energy s all 4l
c-Direction 4alxi) d-Speedis !

18-Suppose you are riding a bike, which of the following would happen if you increase the
speed of the bike?$ Sl de ju dal Hall 3ald; Cadd 13) g b law sl Aal 50 S 5 elil i i
A-Energy of motion increase. &~ &) 51,3 B-Energy of motion decreases. s ! 4ial) Ji
C-Stored energy increase.dijiall 48Ual) 314 D-Stored energy decrease. 4 s il 4Uall J&i
19-Which is not an example of a collision causing energy transfer and change in motion?

A jal) pad g ABUal) J&5 43d Ay o3 alabaY) o Yla a9
A- a bat strikes a baseballJs 35 22 B- a catcher catches a baseball Jgsws 88 dulal) da
C-a baseball hits the ground ¢=.% 3 8l a5 D- a baseball flies through the air ) sgl) & Juki )

20-Friction during a collision causes some kinetic energy to be changed into......
_____ ) S pal) A8l (g g 80 Qe alabual) A dlsiay)-

a-Heat 5/~ b- Chemical energy st 4il c- Potential energy 4~ 4




